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olfnc6: nC5=1:3,then|n—3 Viv= OUU:_(L}U d\g\-’\,
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o The middle term in the expansion of 2 i S Law N1 asdl
1 W
(2x +55)" equals ........ (v=—2*")
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o The coordinates of the midpoint of the line- daladl) Caatie dlads O\l

segment whose terminals (87 er) bbb A dcgi)
(-32,4), (-52,8) 88 coveeeees o S (A Y co-)

(-2,2,4) v (D
.53 (+e5) @
G5 (y4 <5 @

(-4,2,6) (va) Q)

® 0 6
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) 11 Wer V) g e L

o Prove that the expansion of (xz + iz) (? ) g K of e
X

does not included a term free of X . St QB' A e g5 Y

5
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Find the area of the parallelogram in which &N\{JE’\ ) 520 dlis d
A and B are two adjacent sides such that: | 1) s\ Olabio & F 4 )
A =@3,6,3), B =(-6,-2,-4). (- -) =S (raa) =t
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From the numbers 1, 2, 3, 4, and 5. 34 SS 0t (YY) (\bﬁ\ e
How many even numbers greater than 300 Ay oSG e ¥ e 1S Tl
can be formed from these numbers with (IS e oo 5 ) o e
replacement?

@ 30 ® 250 oo @t O
© 111 @ 1530 ore 0w B
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o If Z = +/2(sin30° + i cos30°) ,then the o8 13y
principle argument (amplitude) of the Cr ot v ) v\ =¢
number Z equals ............ & saall ALY i b

.................. $ols

@ 30 ® 60 @ e O
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0 The direction cosines of axciel) ol Ll ples s
the vector A = (-2, 1,2)are ... | s A=

@ (2,12 (v (@
® (319 FHE) @

2Y\3§ %

© (25,9 (L) B

2 3
@ ¢LLD (havarv-)
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Without expanding the determinant , O el sl s (5
Prove that :
3x 3x 3x
1 b a |=zero
a+b a+1 b+1

AN A S Al

v/ U.JLIJI JoaJl - d=alpoldulinl) A A auj



YOW/YAT Gty plad - L g (Ao ¥ 1 230 2 pal) dasnkighy uond | - dualadl 2 301 2y aLad! B3l Gl

11

v/ U.JLJJI JoaJl - d=alpoldulinl) A A auj



YAV/YNT Gyl pladl - LA g (Al ¥ 2R000) 2 pad) Ay ot - Zalad) i 3l sl ot aLa3) Balgs (olonia!

@ If 1,w,w? are the cubic roots of one,then:

14+ w+ 0+ o+ 4 0

ssdedl 2 (@ ) B 13)

IR P FaS)
.................. Yo+ O+
............... &ju » w +
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@ Answer one of the following items

a- If the two straight lines:
Li:t=(23,-4)+k(23,a)
L, x-5 _y+4  z-4

2 p T 6 2

are parallel , find the value of each of a and b

b- Prove that the two straight lines :
Li:7v=(1,24) + ky (4,-2,2)
Ly:x =1—6k,

, y =1+ 21k,

,Z =1+ 33k, are perpendicular.

O 538l G| be e
§ e
Olastiendd) OIS 13 -
(P (=X y) =~

t-& et _0-0 J
Y q o ty

o P e IS s sl o Sl s
el OF St -

¢ (\"‘\“_‘£> \i}+<ic\"¢\)=7:\d
AN = e BT = ]
Olhelats (JTYF Y =5
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@If/T:zngj—E B=41—7, R B S (AR
then 4 B equals ......... = Tub:_‘:izt
.................. 6‘3\..0.3_
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The measure of the angle between the two Slalsl pled Og K]
straight lines whose direction cosines are G T Y ) (B e
¥y v
2 Tt 1 1 LM WEoL v
(3 '3 ,3) and (ﬁ ' ,0) equals ......... - . Glos)

............... dju M&L«J\ oL
@ 60 ® 30 AR C RN O
© 90 @ 120 A ORI
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@ Find the equation of the plane parallel to the S9! (6 el Aolae s o
plane 2x + y — 4z = 0 and lies at a distance =E - T Y sl

E \r EJA]

v/21 length unit from the point (1,2,0) JsbBaoy i e ot Sib

( P ) M\ uﬁ
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Solve the following matrix equation: SRNPIITIEND-UN PR o
1 0 2 X 5 ° o Y . \
01 =)0)-(c) (L[]
1 1 O Z 7 v & ' J }
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@ If Z =2+ 2v/3i, then the exponential STy =8 O )
form of Z 1s Al

@ 4e_Tni @ 4e§i ‘:’Tﬂ_bi
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@ If x24+y2+22+4x—-6y+8z+4=0 1S _wi+ré+vu0+yw¢3\§‘5l

the equation of a sphere, then the length X
of its diameter equals ............. length 830 S8 J5b 5B 3,8 Aolas
unit. .J#SJ&-} .................. LfJL“%.
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® If direction angle of a vector are 2 (0 %0 °t0) o8 13
(45°,45",0") , then one of the values of G| O asaed ol Ll g )
Doqual 295,  — wadS T | XM $ol3 (0) o8

@ 45° ® 90° . @ e (D
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@ Answer one of the following items: RO R JV-5:1 (JERES PSPy
a- Find the solution set of the equation : st Ca s “\?\ 2
Z* = —8i in the trigonometric form. AN pall (pA =
()Y =g o8-
1 . & .
b-If Z = - (1 + i), find the square roots A TV w .
. . . 8 &) oo Iy Al |
of Z in the trigonometric form. @ o 2 A 2 oA s
A1 3 gl
23

v/ U.JLIJI JoaJl - d=salpoldalinl) ad A auj






